W,

www.touslesconcours.info

UNIVERSITL DL DSCH AN, . REPUBLIQUE DU CAMEROUN
PRI FINIVERSEEY o 0 fose it Paix - Travail - Patric
FACULTE D'AGRONOMIE ET DES i REPUBLIC OF CAMEROON
SCIENCES AGRICOLES .Y s Peace - Work — Fatherland
- FACULTY OF AGRONOMY T - L% e

AND AGRICULTURAL SCIENCES
B.P 222 Tél. 33-45-15.66
D5CHANG - CAMERQUN

CONCOURS COMMUN DVENTREE AU NIVEAU TDE LA FACULTE D'AGRONOMIE ET DES
SCIENCES AGRICOLES AU TITRE DE L’ANNEFE ACADEMIQUE 2012-2013

COMMON COMPETITIVE ENTRANCE EXAMINA TION INTO LEVEL T O THE FACULTY OF
AGRONOMY AND AGRICULTURAL SCIENCES FORTHE 20122003 ACADENMY YVIEAR

AQUT-AUGUST 2012

EPREUVE/PAPER: MATHEMATIQUES / MATHEMATICS
DUREE / TIME: 4H
INSTRUCTIONS : Répondre a toutes les questions soit dans la Scection A, soit dans la Section B,
en n’utilisant qu’une seule langue, le Francais ou I’Anglais / Answer all the
questions in either Section A or Section B using cither Englisl or French.

SECTION A

[Exercice 1 (6,5 points)

-

1) On considere la fonction { telle que fix)= —g_ pour tout x ¢lément du domaine de
A i
définition de f.

a) Mettre fix) sous la forme —— + : : Beca 3 0ua. b et csont des nombres réels -
; - _ A8

b) Déterminer une primitive de fnotée : | - —3

2) Soient les fonctions suivantes

Sinhix) — ;q— c Cosh(x) = .—:; clanh(x) = ——

a) Caleuler les dérivées de Sinh(x). Coshix) puls conclure :
by Comparer (Cosh(x))? - (Smh(x)) et _(Cosh(x))* + (Sinh(x))? :
¢) Lxprimer la dérivée de tanh(x) en fonction (tanh(x))-. puis en fonction de
(cosh(x))*.
Laercice 2 (4 points)
1) Résoudre dans IR équation suivante en utilisant le changement de variable X = 2
pour déterntiner X et x: '+ x7 -6 =0,

2) Résoudre dans IR? le systéme d"équations ci-dessous en utilisant les changements de

variables X = X ety = i
X ¥
e = e B F
. 4
i :
—_ - - = 1
f i
31 Reésoudre dans IR I'équation | +2x-7 2 = :
. ‘_c—
:
™ 1 ~
[.3
LE



Lo dinsrannne de Venn ci-dessous montre 1o nomibre de commiercanis vendant des

vacios (R les televicns o1 e lewwiws touslésconcours. info

4.
NV
1) Combien de commergants vendent :
a) Les radios ¢t les téléviscurs a la fois ?
b)  Aumoins deux des produits ?
21 Un bomme se rend au marché pour acheter un téléviseur et une radio
Quelle est la probabilité pour que le premier commergant rencontré vende :
a)  Undes wois produits sculement ?
b)  Deux des trois produits sculement ?

3) Quelle est la probabilité pour que 'homme en (2) ci-dessus achéte la radio et le
téléviseur dans un magasin de vidéo ?

Exercice 4 (7 points)
rtudier et tracer la courbe de la fonction f dans un repere orthonormé -
- f(x) = ;i

- Unités sur les axes : 1 em sur chaque axe

SECTIONB
Question 1 (6.5 marks)

1) Consider the following function fix) = ——— for ¢very value of x satslhving the

above mentioned expression

a) Write {(n) in the form + + ——— where 4. b and ¢ are real

numbers:

b Baludle f ————p #1

—_ £

2) Consider the following functions

Sinh(x) =——— _ Cosh(y) =———— _tanhiy) - =——

ar Fvaboate the denvatives of Sinhis ), Coshosy and conclude;

by Compare (Coshios )™ - (Sinh(x0)) and (Coshesn = (Sinhixon®
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¢) Lxpress the derivative ol timh(x) as o function ol (emhios )7, CNEEE

LESI g B

the derivative ol tanh(x) as a tunction of (coshi(x))-

~Question 2 (4 marks)

1) Solve in IR the following equation using the new variable N = 82, to find N and -
4 . =) P
XT o+ ==,

20 Solve in IR? the set of equations below using the new variables N == and Y - —
3 B &
= — ==

3) Solvein IR the equation: 1+2x+., (2 — +3° = 3

Question 3 (2.5 marks)

The Venn diagram below shows the number of traders that se
(1) and video (V) in a market.

[ radio (R, television

1) How many of the traders sell:
a)  Both radi

o and television?

B) At lcast two of the items?

23 A man goes o the market to buy a set ol radio and television

What iz the probability (hat the first trader he moets sells:

Ay Oone ol the theee 1 ?

5 ok

U Two of the three Heas only e

3) What is the probahitity that the muan i (2) above buy s e rudic and television in a

\'ir_{;‘ﬂ ~'.f1‘\.\i':

Question 47 marks)

Using ascale of Temto 1 unit an the © and v-anxis, trace the curve ol the function I

N
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